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1. Both Canada and the US produce maple syrup and whiskey. It takes Canada one hour of labor to produce a barrel of maple syrup, while it takes the US 2 hours of labor to produce a barrel of maple syrup. The US can produce one barrel of whiskey per hour and Canada can produce a barrel of whiskey every 3 hours. Who has the absolute advantage for each good?
a. The US has comparative advantage for whiskey and Canada has the comparative advantage in maple syrup. 
b. Canada has the absolute advantage in both goods.
c. The US has the absolute advantage in everything 
d. There is no absolute advantage in this scenario 
e. The US has absolute advantage in whiskey, while Canada has the absolute advantage in maple syrup.
2. A country has absolute advantage over another if: 
a. it uses more resources to produce a good than the other country
b. it uses fewer resources to produce a good than the other country
c. a good can be produced at a lower opportunity cost 
d. it has a larger GDP
e. None of the above 
3. Norway and Japan both produce crude petroleum and soybeans. For Norway, the opportunity cost of one unit of crude petroleum (in terms of soybeans) is ½. Japan’s opportunity cost of one unit of crude petroleum (in terms of soybeans) is 4. Who has the comparative advantage in crude petroleum production?
A. Japan has an absolute advantage in crude petroleum production.
B. Neither country has a comparative advantage in crude petroleum production.
C. Norway has an absolute advantage in crude petroleum production.
D. Japan has a comparative advantage in crude petroleum production.
E. Norway has a comparative advantage in crude petroleum production.
4. Suppose that free trade between the U.S. and Canada results in Canada exporting maple syrup to the U.S.  How do consumer surplus, producer surplus and total surplus change in the market for maple syrup in the U.S.?  
a. CS decreases, PS increases and TS decreases.
b. CS, PS and TS all decrease
c. CS, PS and TS all increase
d. CS increases, PS decreases and TS increases.
e. CS decreases, PS increases and TS increases. 
5. Gains from trade come from:
a. specializing in one’s comparative advantage
b. having an absolute advantage in production of all goods
c. being a high-income country
d. having well-educated, workers, technologically advanced equipment, and the most up-to-date production processes.
e. there are no gains from trade.
6. In general, trade:
a. destroys jobs in the industries that compete against imports.
b. can threaten national security due to dependence on vital imports during wartime.
c. prevents new industries from competing with established, foreign firms.
d. is unfair because competitors in other countries have unfair advantages, ie. Government subsidies.
e. none of the above 
7. Similar, high-income economies engage in intra-industry trade due to:
a. economies of scale.
b. economies of scale and the division of labor leading to learning, innovation, and unique skills.
c. division of labor leading to learning, innovation, and unique skills
d. dis-economies of scale.
e. dis-economies of scale and the division of labor leading to learning, innovation, and unique skills.
8. In an effort to protect the American auto industry, Congress suggests an import tariff on all German cars. If this tariff is enforced, who wins and who loses?
a. Producers in America and consumers in Germany win, while German producers and American consumers lose.
b. Producers in both countries win, while the consumers in both countries lose.
c. Producers and consumers in both countries lose, because tariffs are bad.
d. Producers in America and consumers in Germany lose, while German producers and American consumers win 
e. Producers and consumers in America win, while produce and consumers in Germany lose
9. France has the ability to produce 30 barrels of wine in an hour and 3 barrels of olives in the same amount of time. Calculate the opportunity cost for France to produce one barrel of wine, in terms of barrels of olives.
a. 10 barrels of olives
b. 1 barrel of olives
c. 0.1 barrels of olives
d. 3 barrels of olives
e. none of the above
10.  France and the US both produce wine. In the French economy, the price of wine is relatively low due to an abundant supply; the price of wine is relatively high in the US economy due to the scarce supply of wine. Suppose  France and the US are the only two wine producers in the world and they open their markets to trade.  Where would the world price of wine fall, and who would be the winners and losers in this situation? 
a. The world price of wine would be the same as the price in the American economy, benefiting both the French and American producers, while harming French and American consumers.
b. The world price of wine would be the same as the price in the French economy, benefiting both the French and American consumers, while harming French and American producers.
c. The world price of wine would be the sum of the prices in both economy, benefiting both the French and American producers, while harming French and American consumers.
d. The world price of wine would fall in between the French and American prices, thus benefiting American consumers and French producers and harming American producers and French consumers.
e. None of the above.




Answer Key:
1. E
2. B
3. E
4. D
5. A
6. E
7. B
8. A
9. C
10. D
